Test 1 Name: ke il

DUSTﬁy Wilson ¥, hould h ms, old hould write books
2 H A . write .
Math 1 . . oung men shou pi".()ve e0Vems, oid men SAouie write DO,

Godfrey Harold “GH” Hardy (1877 - 1947)

. . English mathematician
No work = no credit & i

' 2 .
Warm-ups (1 pt each): (~»2)2= i I, LI L= dPBEFIPED

_ S B

1.) (1 pt) Paraphrase the quote by GH Hardy given above. Use complete English sentences.
E—@; C!’\@q‘?;d@; L‘}L’F. Ef. njmu e e c?fa-.&sﬁg

2.) (16 pts) Find the derivatives of the following: (Simplification is optional).

-1 1
a.) (4pts)y=4x6———}cu+ x+4 = ‘—!3{&’» X 4% = 44

b) (4pts) f(x)= %(2)9 ——x)7

B
Ty = Cux?-x) (éx3)

¢.) (4 pts) y(x)'m(Zx4 +x° -7)-(5x—x3)

\.Df(x\zk Bx 4+ ) (&% -_-;@X + (g 332 x! 4;{295

3x° +8

d) (4 pts) z =

2x (IxS4a) = ISx. ¥x

(3x 48\
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33 (4 pts) Find £7(x) if £ (x) = 26"~ .

. - i
S S

A/
! 4 T
=3 %:Qx)::, foX’ - -%;X

4—) (‘j E?“f%} i /Jgi(” = g’q ‘((]2 + 5)7 s find "gf“
. -

Je

. .t o, o\, o
C}E ~ L}ﬁ*ﬂa}’ +5) + :;*(c\:'i,,g\) -F?;q;'?j;

5.3 (5 ptsy Given the function f{x) shown in the graph to the right, evaluate the following:

Ay limf(x)= L

¢} ls /{x} continuous? Explain why or why not using the definition of continuity?

He o B 4 i ?(XB

A3

Page 2 of 4



. . . X xz .?C3 X4
6.} {1 pt) Find the derivative of F(x)=1+>+ + 4 S
) (1Y veof ) =+ Tt 5

Express your answer in terms of f(x).

| - |
X Wk

Pl e )+ 2y 2, X0
o P IZ /2.3

= F(x)= {1{x)

7.) (4 pts) Use the definition of the derivative to find g'(x) if g(x)=3x"~5

;3’(9(\—_:, Vi [ B0H4) - 5] - (3% 5)

o hee N

o o X;&, . //é‘

Ll 34+ baliy AV — 3t LS
L\-:'Do

L

< P (bxa 2h)

N
= b
o' lx) = 6x
U
X +2x+1 .
8.) (4 pts) Consider the function: g(x)=~£2~—i—£f— = Q{ “ME
: o ' x"+5x+4 1
Q#4944
a) g{-1)= upé&?—g‘gx&ﬁ: ‘ b.) P_{Eg(x)t O
¢ lim g(x)=__ < d) lim g(x)= -
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9.3(7 pts} The revenue R snthousands of dollar from the sale of x Caterpillar Motor Graders is

given by

R (\} =1 5x7 4+ 450x°

Caterpillar
Motor Grader 241

a. (1 pty Find and interpret R (O) 20

Ho  revesve  is  geperwted  wheo o

s bom C.f’?'\qénqj‘\ ‘?JL§ Hé ' q.;’\e_ SQ!J .

b.) (2 pts) Caleulate \/fﬁ(x) .

_— | L
ME(x) = Qox?’ + 135X

c.y (2 pt) Interpret A4R(20) using complete English sentences,

The. reJerve. ‘?Mﬂq <he  szle  of e 1~

M&%P'%Mag«eﬂ ] = q}sau&‘; ﬁ}.a}'a.@ﬁﬁ

d.} (2 pts) Find and interpret R{21)— R(20) using complete English sentences.

1?"8‘«;{5&-‘?
' ' i~ N
‘Tim. AR reveriVe Frupm the 215 ttewm i
odove  Hl, egq tes (vp $958, 025 for g 20%)

190.) (4 pts) The graph shown to the right portrays f (x) and the line tangent to f(x) at x = 1.
4 & Tangent Line '

Use this information to find f‘(l) "2 /Z
6 -
o glor AN :

T~ L 7z

. / 1
7= L v

g
x
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